




   SZEMELY  X1  X2  X3 

1     sz.1   1  11  21 

2     sz.2   2  12  22 

3     sz.3   3  13  23 

stb… 

10    sz.10 10  20  30 

   SZEMELY ALKALOM  X 

1     sz.1      X1  1 

2     sz.2      X1  2 

3     sz.3      X1  3 

stb… 

10    sz.10     X1  10 

11    sz.1      X2  11 

12    sz.2      X2  12 

13    sz.3      X2  13 

stb… 

20    sz.10     X2  20 

21    sz.1      X3  21 

22    sz.2      X3  22 

23    sz.3      X3  23 

stb… 

30    sz.10     X3  30 
reshape2

melt() 

library(reshape2) 

d.h <- melt(d, variable.name = "ALKALOM", value.name = "X")
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reshape2

melt()

shapiro.test(d$X1) 

shapiro.test(d$X2) 

shapiro.test(d$X3)



          
  

 

shapiro.test(d$X1) 

shapiro.test(d$X2) 

shapiro.test(d$X3) 

 

summary(aov(X ~ 

ALKALOM + 

Error(SZEMELY/ALKA

LOM), data=d.h)) 

 

atlagX1=mean(d$X1)  

atlagX2=mean(d$X2)  

atlagX3=mean(d$X3) 
 

   

   

bartlett.test(X ~ ALKALOM, 

data=d.h) 

         

    

friedman.test(cbind(d$X1,d$X2,d$X3)) 

quantile(d$X1); quantile(d$X2); quantile(d$X3); 

quantile(d$X1,c(.2,.4,.6,.8));quantile(d$X2,c(.2,.4,.6,.8))

; 

quantile(d$X3,c(.2,.4,.6,.8)) 

 
 

     
   

library(coin) 

mh_test(table(d$X1,d$X2,d$X3)) 
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   library(reshape2) 

   d.h <- melt(d, variable.name = "ALKALOM", value.name = "X") 



bartlett.test(X ~ ALKALOM, data=d.h)

 



    summary(aov(X ~ ALKALOM + Error(SZEMELY/ALKALOM), data=d.h)) 

     atlagX1=mean(d$X1); atlagX2=mean(d$X2); atlagX3=mean(d$X3) 

friedman.test(cbind(d$X1,d$X2,d$X3)) 



    quantile(d$X1) 

    quantile(d$X2) 

    quantile(d$X3); 

    quantile(d$X1,c(.2,.4,.6,.8)) 

    quantile(d$X2,c(.2,.4,.6,.8)) 

    quantile(d$X3,c(.2,.4,.6,.8)) 

 

 

 

 

coin mh_test()

library(coin)

    library(coin)

    mh_test(table(d$X1,d$X2,d$X3))



table(d$X1)

table(d$X2) table(d$X3)
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